
Model Questions
For

Matric Examination 2016 (Annaul)
Sub- SSC Set 1

History Group-A
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

1. teZu jkbu jkT; dk fuekZ.k fdlus fd;k Fkk ? 01
¼d½ ywbZ 18 ok¡ ¼[k½ usiksfy;u cksukikVZ
¼x½ usiksfy;u &III ¼?k½ fcLekdZ
Who had formed German Rhine State ?
(a) Louid XVIII (b) Napoleon Bonaparte
(c) Napoleon III (d) Bismarck

2. jEik fonzksg dc gqvk ? 01
¼d½ 1916 ¼[k½ 1917
¼x½ 1918 ¼?k½ 1919
When did Rumpa Movement take place ?
(a) 1916 (b) 1917
(b) 1918 (d) 1919

3. lgh ‘kCn ls fjDr LFkku dh iwfrZ djsa %&
Fill  in the blank with appropriate word:-

:lh Økafr ds le; ‘kkld --------------------------Fkk- 01
----------------------------- Was the ruler at the time of Russian Revolution?

4- cky xaxk/kj fryd vkSj--------------------------------us gkse:y vkanksyu dks ‘kq: fd;k Fkk- 01
Bal Gangadhar  Tilak and …………….. Started Home Rule Movement.

fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
5- xSjhckYMh ds dk;ksZa dh ppkZ djsa %& 03

Discuss the works of Garibaldi.

6- lkE;okn ,d ubZ vkfFkZd vkSj lkekftd O;oLFkk FkhA dSls \ 03
Communism was a new economic & social system . How ?

7. 1929 ds vkfFkZd ladV ds dkj.kksa dks la{ksi esa Li”V djsa A 03
Describe clearly in short the causes of Economic Depression of ?

8. fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :
vlg;ksx vkUnksyu ds dkj.kksa ,oa izHkkoksa dk o.kZu djsaA 07

vFkok
jk”Vªokn ds mn; ds dkj.kksa ,oa ifj.kkeksa dh ppkZ djsaA
Describe the causes and effects of Non-Co-opretion Movement.
Or
Discuss the causes and consequences of the rise of nateonele’s.eV
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Hkwxksy Group-B Marks-20

fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa %&
Choose the most appropriate options in the following multiple choice questions.

9 dkWoj >hy fdl ftyk esa fLFkr gS \ 01
¼d½ njHkaxk ftyk esa ¼[k½ Hkkxyiqj ftyk esa
¼x½ csxwljk; ftyk esa ¼?k½ eqt¶Qjiqj ftyk esa

In which district in cower lake situated ?
(a) In Darbhanga district (b) In Bhagalpur district
(c) In Begusarai a (d) In muzaffarpur district

10 o`gr {ks= esa ty dh mifLFkfr ds dkj.k gh i`Foh dks dgrs gSA \ 01
¼d½ mtyk xzg ¼[k½ uhyk xzg
¼x½ yky xzg ¼?k½ gjk xzg
Due to existence of water in vast area, the earth is called
(a) White Planet (b) Blue Planet
(c) Red Planet (d) Green Planet

11 lgh ‘kCn ls fjDr LFkkukas dh iwfrZ djsaA
I- Hkkjr dk jk”Vªh; i{kh----------------------gSA 01

The National Bird of India is----------------- .
II. ykSg v;Ld dk mi;ksx --------------------- m|ksx ds fy, fd;k tkrk gSA 01

Iron-ore is used in ----------------- Industry.
fuEu iz’uksa dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following questions in 50-60 words.

12 ok;q ifjogu dh izeq[k fo’ks”krkvksa dks fy[ksaA 03
Write the main features of airways transportation.

13 oU; thoksa ds g~kl ds pkj izeq[k dkjdks dk mYys[k djsaA 03
Mention the main four factors of extinction of the forest animals.

14 fcgkj esa nygu Qlyksa ds mRiknu ,oa forj.k dk o.kZu djsaA 03
Describe production and distribution of pulse crops in Bihar.

15 fuEu iz’u dk mÙkj 100&120 ‘kCnksa esa ns %& 07
Pkkoy ds mRiknu ds fy, eq[; HkkSxksfyd n’kkvksa dk o.kZu djrs gq, Hkkjr ds pkoy mRiknd {ks=ksa dk
mYys[k djsaA
vFkok
iwjs i`”B ij Hkkjr dk ,d js[kk ekufp= cukb, rFkk fuEufyf[kr dks Nk;kafdr dj vafdr dhft,A
d- ikjk}hi cUnjxkg [k- lyse bLikr dsUnz x- xUuk mRiknd {ks=
?k- dks’kh ifj;kstuk ³ dks;yk mRiknd {ks=
vFkok
dsoy us=ghu Nk=ksa ds fy,
1- Hkkjr ds lwrh oL= m|ksx dk o.kZu djsaA
Answer the following question in 100 to 120 words.
Mention the rice production area of India describing importat geographical conditions for rice production.
Or
Draw the outline map of India on full page and mark the following by shading.
a. Paradwip port b. Salem steel plant c. Cane production area
d. Kosi project e. Coal production area.
Or
Only for Blind candidates
Describe the cotton textile Industries of India.

eV
idy

art
hi

https://www.evidyarthi.in/



Political science Group-C Marks-17
fuEukafdr cgqfodYih; iz’uksa esa lgh fodYi pqusa %&
Choose the most appropriate options in the following multiple choice questions.

16 xBca/ku dh ljdkj cukus dh laHkkouk fdl izdkj dh nyh; O;oLFkk esa jgrh gS %& 01
d- ,dnyh; [k- f}nyh; O;oLFkk
x- cgqnyh; O;oLFkk ?k- mi;qZDr esa ls fdlh esa Hkh ugha

Which type of political arrangement is the possibility to form a coalition Government :-
(a) One party system (b) Two party system
(c) Multi party system (d) None of the above.

17 ^rkM+h fojks/kh vkUnksyu* fuEufyf[kr esa ls fdl izkUr esa ‘kq: fd;k x;k Fkk \ 01
d- fcgkj [k- mÙkj izns’k
x- rfeyukMq ?k- vka/kz izns’k

In which state was the ‘Tari Virodhi Movement’ started?
(a) Bihar (b) Uttar pradesh
(c) Tamil Nadu (d) Andhra Pradesh

18 fjDr LFkku dh iwfrZ djsa %&
Fill  in the blank :-

¼d½ ftyk ifj”kn~ dk dk;Zdky -------------------------- o”kZ dk gksrk gSA ¼ik¡p@N%½ 01
A period of the Zila Parishad is ……………… Years. (Five/six)

¼[k½ ns’k ds lcls cM+s pquko vf/kdkjh -------------------------- gSaA ¼eq[; pquko vk;qDr@pquko vk;qDr½ 01
The top most officer of the country is ……………………… (Chief Election Commissioner/Election
commissioner)

19 fuEu iz’u dk mÙkj 20 ‘kCnksa esa nsa %&
Answer the following question in 20 words :
ncko lewg ls vki D;k le>rs gS \ 02
What do you understand by pressure Group ?

20 fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :
Hkkjrh; la?kh; O;oLFkk dh eq[; fo’ks”krkvksa dk o.kZu djsaA 05
Mention the salient features of the Indian fedral system.

21 fcgkj esa fdl rjg yksdra= dks izHkkfor djrk gS 06

Economics Group-D Marks-17
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

22 miHkksDrk vf/kdkj fnol dc euk;k tkrk gS \ 01
¼d½ 17 ekpZ ¼[k½ 15 ekpZ
¼x½ 19 vizSy ¼?k½ 22 vizSy
When is the consumers Rights Day celebrated ?
(a) 17th March (b) 15th March
(c) 19th April (d) 22th April

23 fcgkj ds fdl ftys dk izfr O;fDr vk; lokZf/kd gS \ 01
¼d½ ukyUnk ¼[k½ iVuk
¼x½ x;k ¼?k½ f’kogj
In Which district of Bihar is the per capita Income highest ?
(a) Nalanda (b) Patna
(c) Gaya (d) Sheohar
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fuEu iz’u dk mÙkj 20 ‘kCnksa esa nsa %&
Answer the following question in 20 words :

24 vkfFkZd fu;kstu D;k gS \ 02
What is Economic planning ?

25 cpr D;k gS \ 02
What is Saving ?
fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

26 vFkZO;oLFkk ls vki D;k le>rs gS\ blds fofHkUu izdkjksa dks fy[ksa 07
What do you understand by Economy ? Write its different kinds.

27 Hkkjr esa oS’ohdj.k ds i{k esa rdZ nsa A
Give logic in the favour of Globlization.
Or
eqnzk ls D;k rkRi;Z gS \ eqnzk ds D;k dk;Z gS \
What do you mean by money ? What are the functions of money ?

vkink izca/ku Group-E
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

28 lqukeh fdl LFkku ij vkrk gS \ 01
¼d½ LFky ¼[k½ leqnz
¼x½ vkleku ¼?k½ buesa ls dksbZ ugha
In which place does Tsunami Occur  ?
(a) Landmass (b) Ocean
(c) Sky (d) None of these

29 ck<+ ds le; yksxksa dks fuEu esa ls fdl LFkku ij tkuk pkfg, \ 01
¼d½ Å¡ph Hkwfe okys LFkku ij ¼[k½ xk¡o ds ckgj
¼x½ tgk¡ gS mlh LFkku ij ¼?k½ [ksrksa esa
Where should people got to the time of food among the following ?
(a) On the place of highland (b) out of the village
(c) Where as it is (d) In the field
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question in 50 or 60 words :

30 izkÑfrd vkink ,oa ekuo tfur vkink esa varj lgh mnkgj.kksa ds lkFk o.kZu djsaA 03
Describe the difference with suitable examples between natural disaster and man-made disaster.
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Model Questions
For

Matric Examination 2016 (Annaul)
Sub- SSC Set II

History Group-A
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

1. fo;kuk dkaxzsl ds }kjk Ýkal esa fdl ‘kkld oa’k dh iquLZFkkiuk dh xbZ Fkh \ 01
¼d½ gSCloxZ ¼[k½ vkfyZ;k
¼x½ cwcksZ ¼?k½ tkj’kkgh
Which of the following dynastees was re-established by the Congress of Vienna in France ?
(a) Habsburg (b) Orleans
(c) Bourban (d) Czarist

2. te’ksnth VkVk us ^VkVk vk;ju ,.M dEiuh* dh LFkkiuk dc dh \ 01
¼d½ 1854 ¼[k½ 1907
¼x½ 1910 ¼?k½ 1920
When did Jamshedji Tata establish ‘Tata Iron and steel Company’.
(a) 1854 (b) 1907
(c) 1910 (d) 1920
lgh ‘kCn ls fjDr LFkku dh iwfrZ djsa %&
Fill  in the blank with appropriate word:-

3. vf[ky Hkkjrh; VsªM ;qfu;u dkaxzsl dh LFkkiuk lu~ -------------------------- esa gqbZ FkhA 01
All India Trade Union Congress was formed in the year …………………..

4- vysDts.Mªh;k uked igyk fo’o cktkj --------------- ds }kjk LFkkfir fd;k x;k FkkA 01
The first world market known as Alexandreya was established by …………..
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question 50 or 60 words.

5- U;wure etnwjh dkuwu dc ifjr gqvk \ blds mís’;ksa ij izdk’k nhft, A 03
When was the minimum wages Act passed ? Throw light on its objectives.

6- Ýkalhlh ØkfUr ds eq[; dkj.k D;k Fks \ 03
What was the main Causes of French Revolution ?

7. HkweaMyhdj.k esa cgqjk”Vªh; dEifu;ksa ds ;ksxnkuksa dks Li”V djsa A 03
Analyse the contributions of the multi-National Companies in Globalies at

fuEu iz’u dk mÙkj 120 ‘kCnksa esa nsa %&
Answer the following question in 120 words :

8- mifuos’kokn ls vki D;k le>rs gSa \ vkS|ksxhdj.k us mifuos’kokn dks tUe fn;k] dSls \ 07
What do you understand by colonialism ? Industrealisation gave birth to colonialism how ?

vFkok
lfou; voKk vkUnksyu ds dkj.kksa dh foospuk jdsaA
Analyse the causes of civil disobedience movement.eV
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Hkwxksy Group-B Marks-20

fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa %&
Choose the most appropriate option in the following multiple choice questions.

9- fcgkj ds fdl ftys esa ugj flapkbZ dk eq[; lk/ku gS \ 01
¼d½ jksgrkl ¼[k½ lhoku
¼x½ x;k ¼?k½ if’peh pEikj.k

In which district of Bihar canal is the main source of irrigations ?
(a) Rohtas (b) Siwan
(c) Gaya (d) West Champaran

10- ns’k ds ck¡/kksa dks fdlus ^Hkkjr dk eafnj* dgk Fkk\ 01
¼d½ egkRek xk¡/kh ¼[k½ MkW0 jktsUnz izlkn
¼x½ iafMr usg: ¼?k½ Lokeh foosdkuUn
Who said that the dams of the country are the temples of India ?
(a) Mahatma Gandhi (b) Dr. Rajendra Prasad
(c) Pandit Nehru (d) Swami Vivekananda

11- lgh ‘kCn ls fjDr LFkkukas dh iwfrZ djsaA
I- vHkzd dk mi;ksx ---------------------- m|ksx esa fd;k tkrk gSA 01

Mica is mostly used in ………….. Industry.
II. fcgkj esa lcls vf/kd vkcknh okyk ftyk -------------- gSA 01

----------------- district has the largest population in Bihar.
fuEu iz’uksa dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following questions in 50-60 words.

12- ou ds i;kZoj.kh; egRo dk o.kZu dhft,A 03
Explain the environmental importance of forest.

13- Hkkjrh; jsy ifjogu dh izeq[k fo’ks”krkvksa dk mYys[k djsaA 03
Mention the important features of the Indian Rail Transporte.

14- fcgkj ds ugjksa ds fodkl ls lacaf/kr leL;kvksa dks fyf[k, A 03
Write the problems related to canal development of Bihar.

fuEu iz’u dk mÙkj 100&120 ‘kCnksa esa ns %& 07
15- xsgw¡ ds mRiknu ds fy, eq[; HkkSxkssfyd n’kkvksa dks o.kZu djrs gq, Hkkjr ds xsgw¡ mRiknd {ks=ksa dk mYys[k

djsaA
vFkok
iwjs i`”B ij Hkkjr dk ,d js[kk ekufp= cukb, rFkk fuEufyf[kr dks Nk;kafdr dj vafdr dhft,A
d- dkaMyk canjxkg [k- dkWQh mRiknd {ks= x- dksydrk
?k- lqUnjou ³ rkjkiqj ijek.kq fo|qr x`g
vFkok
Hkkjr ds cgqmís’kh; unh ?kkVh ifj;kstuk ls vki D;k le>rs gSaA blls D;k D;k ykHk gksrs gSaA
Answer the following question in 100 to 120 words.
Mention the wheat production areas of India Discribing important geographical conditions for wheat
production.
Or
Draw the outline map of India on full page and mark the following by shading.
a. Kandla Port b. Coffee Production area c. Kolkata
d. Sundarban e. Tarapur atomic power house.eV
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Or
dsoy us=ghu Nk=ksa ds fy, %&
Only for Blind Candidates :
What do you understand by multipurpose River valley projects in India ? What benefit in gained from
this?

Political science Group-C Marks-17

fuEukafdr cgqfodYih; iz’uksa esa lgh fodYi pqusa %&
Choose the most appropriate options in the following multiple choice questions.

16- la?k ljdkj dk mnkgj.k gS 01
d- vesfjdk [k- phu
x- fczVsu ?k- buesa ls dksbZ ugha

An example of pedral Government is
(a) America (b) China
(c) Britain (d) None of these

17- jkthufrd nyksa dh ekU;rk vkSj mldk fpUg fdlds }kjk iznku fd;k tkrk gS % 01
d- jk”Vªifr lfpokky; }kjk [k- iz/kkuea=h lfpoky; }kjk
x- fuokZpu vk;ksx }kjk ?k- laln }kjk

By whom are the affiliation and symbol of political parties presented :-
(a) By President Secretariat (b) By Prime minister secretor
(c) By Election Commission (d) By parliament
fuEu iz’u dk mÙkj 20 ‘kCnksa esa nsa %&
Answer the following question in 20 words :

18- xzke iapk;rksa ds izeq[k vax dkSu&dkSu gS \ 02
Which are the important parts of Gram Panchayats ?

19- ySafxd vlekurk D;k gS \ 02
What is sexual Inequality ?
fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

20- Hkkjr dh fo/kkf;dkvksa esa efgykvksa ds izfrfu/kRo dh fLFkfr D;k gS \ 05
What is the position of representation of Women in legislatives of India ?

21- jktuSfrd ny fdl rjg lÙkk dh lk>snkjh djrs gSa \ 06
How does political party form alliance in the power ?
yksdra= fdl rjg mÙkjnk;h ,oa oS/k ljdkj dk xBu djrk gS \
How does Democracy organize a responsible and legal Government ?

Economics Group-D Marks-17
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

22- fofue; dk loksZÙke ek/;e gS %& 01
¼d½ oLrq ¼[k½ psd
¼x½ eqnzk ¼?k½ izfrKk i=
Best Medium of Exchange is :
(a) Commodity (b) Cheque
(c) Money (d) PromissoryeV
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23- Hkkjr esa uhfr vk;ksx dh LFkkiuk gqbZ %& 01
¼d½ 1950 ¼[k½ 1951
¼x½ 2005 ¼?k½ 2015
Establishment of policy commission in India is
(a) 1950 (b) 1951
(c) 2005 (d) 2015

24- lekos’kh fodkl fdls dgrs gSa \ 02
What is inclusive Growth ?

25- lw{e foÙk laLFkk,¡ dks ifjHkkf”kr djsa \ 02
Define the micro Finance Institution.
fuEu iz’uksa dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

26- vkfFkZd fodkl D;k gS \ vkfFkZd fodkl ,oa vkfFkZd of̀) esa varj crkb, A 05
What is Economic Development ? Describe the difference between Economic Development and
Economic Increment.

27- fcgkj ds vkfFkZd fiNM+siu ds D;k dkj.k gSa \ fcgkj ds fiNM+siu dks nwj djus ds fy, dqN eq[; mik;
crkosaA 06
What are the causes of Economic backwardness of Bihar ? Point out some important measure to remove
backwardness of Bihar.
Or
miHkksDrk ds dkSu&dkSu vf/kdkj gS \ lksnkgj.k fy[ksa A
What are the different Rights of a consumer ? Write with examples .

vkink izca/ku Group-E
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

28- egklkxj dh ryh ij gksus okys daiu dks fdl uke ls tkuk tkrk gS \ 01
¼d½ HkwdEi ¼[k½ pØokr
¼x½ lqukeh ¼?k½ buesa ls dksbZ ugha
By which name is the vibration occurring on the oceanic bottom known ?
(a) Earthquake (b) Cycloe
(c) Tsunami (d) None of these.

29- vkxk ls tyus dh fLFkfr esa tys gq, LFkku ij D;k izkFkfed mipkj djuk pkfg,A 01
¼d½ BaMk ikuh Mkyuk ¼[k½ xeZ ikuh Mkyuk
¼x½ vLirky igq¡pkuk ¼?k½ buesa ls dksbZ ugha
What first aid should be made available on burnt spot in the burning condition ?
(a) Cold water (b) Hot water on the burnt spot
(c) Carry to the hospital (d) None of these
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question in 50 or 60 words :

30- lq[kkM+ izca/ku dk o.kZu djsaA 04
Describe drought management.eV
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Model Questions
For

Matric Examination 2016 (Annaul)
Sub- SSC Set III

History Group-A
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

1- Hkkjrh; jk”Vªh; dk¡xzsl dh LFkkiuk dc vkSj laLFkkid dkSu Fks \ 01
¼d½ bZ0 1923] xq: xksyoydj ¼[k½ bZ0 1885] ,0vks0 g~;we
¼x½ bZ0 1880] ykWMZ fjfiu ¼?k½ bZ0 1876] ykMZ fyVu
When did foundation of Indian National and who was founder ?
(a) A.D. 1923, Guru Golwalkar (b) A.D. 1885, A. O. Hume
(c) A.D. 1880, Lord Ripan (d) A.D. 1876, Lord Litan

2 vkS|ksfxd Økafr loZizFke fdl ns’k esa gqbZ \ 01
¼d½ baxySaM ¼[k½ Ýkal
¼x½ :l ¼?k½ teZuh
In which country did Industrial Revolution begin ?
(a) England (b) France
(c) Russia (d) Germany
lgh ‘kCn ls fjDr LFkku dh iwfrZ djsa %&
Fill  in the blank with appropriate words.

3 jktk jke eksgu jk; us -------------------------- lekt dh LFkku dh A 01
Raja Ram Mohan Roy established ………………………… Society.

4 olkZ; dh laf/k lu~ ---------------------- bZ0 esa teZuh vkSj ------------------- ds chp gqbZ FkhA 01
Treaty of Versailles was signed in the year ……….. AD betweem Germany & …………
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question 50 or 60 words.

5 izFke fo’o ;q) ds fdUgha nks dkj.kksa dk o.kZu djsaA 03
What was the two Important Causes of First World War.

6 xanh cLrh ls vki D;k le>rs gSa \ bldh ‘kq:vkr D;ksa gqbZ \ 03
What do you mean by slum ? Why did it begin ?

7 fcgkj ds fdlku vkUnksyu ij ,d fVIi.kh fy[ksa 03
Write a note on the Farmer’s Movement of Bihar.

8 fuEu iz’u dk mÙkj 120 ‘kCnksa esa nsa %&
Answer the following question in 120 words :
bVyh ds ,dhdj.k esa esftuh] dkcwj vkSj xSjhckYMh ds ;ksxnkuksa dh foospuk dhft, \ 07
Discuss the Contribution of Mazzini, Cavour and Garibaldi in the Unification of Italy ?

vFkok
jk”Vªh; vkUnksyu dks Hkkjrh; izsl us dSls izHkkfor fd;k \
How Indian Press affected National Movement ?eV
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Hkwxksy Group-B Marks-20

fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa %&
Choose the most appropriate option in the following multiple choice questions.

9 izkÑfrd xSl fdl [kfut ds lkFk ik;k tkrk gSA 01
¼d½ ;wjsfu;e ¼[k½ dks;yk
¼x½ isVªksfy;e ¼?k½ pwuk iRFkj

Natural Gas found with which mineral.
(a) Uranium (b) Coal
(c) Petroluium (d) Lime Stone

10 fuEufyf[kr esa [kjhQ Qly dkSu gS \ 01
¼d½ xsagw¡ ¼[k½ ljlks
¼x½ pkoy ¼?k½ eVj
Which of the following Khareef crops
(a) Wheat (b) Mustard
(c) Rice (d) Pea

11 lgh ‘kCn ls fjDr LFkkukas dh iwfrZ djsaA
Fill in the blanks with appropriate words
I- lalk/ku ------------------ iznÙk migkj gksrs gSaA 01

Resource in the gift of ……………
II. fcgj dk lcls cM+k uxj ------------------------- gSA 01

............. is the biggest city of Bihar.
fuEu iz’uksa dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following questions in 50-60 words.

12 ty ladV D;k gS \ 03
What is water Crisis ?

13 Hkkjr ds izeq[k jk”Vªh; tyekxksZa ds ckjs esa fyf[k,A 03
Write about the important national water ways of India.

14 unh ?kkVh ifj;kstukvksa ds eq[; mís’;ksa dks fy[ksaA 03
Write the main objective of river valley project.

fuEu iz’u dk mÙkj 100&120 ‘kCnksa esa ns %&
Answer the following question in 100 to 120 words.

15 ykSg&bLikr m|ksx dqN fo’ks”k {ks= esa gh dsUnzhr gS] dksbZ rhu dkj.k crk,¡A 07
Iron steel Industry in only limited in a few special area specity any three reason of eat.
Or
vFkok
iwjs i`”B ij Hkkjr dk ,d js[kk ekufp= cukb, rFkk fuEufyf[kr dks Nk;kafdr dj vafdr dhft,A
d- Hkjriqj [k- ueZnk x- dkcsZV
?k- dydÙkk ³ pk; {ks=
Draw the outline map of India on full page and mark the following by shading.
a. Bhartpur b. Narmada c. Carbate park
d. Kolkata e. Tea area.
Or
vFkok
dsoy us=ghu Nk=ksa ds fy, %&
Only for Blind Candidates :
iznw”k.k ds izdkjksa dk o.kZu djsaA
Descibre the kind of pollution.
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Political science Group-C Marks-17
fuEukafdr cgqfodYih; iz’uksa esa lgh fodYi pqusa %&
Choose the most appropriate options in the following multiple choice questions.

16 2015 ds fo/kkulHkk pquko esa fcgkj esa fdl ny us ljdkj cukbZA 01
d- turk ny ¼;w0½ [k- jk”Vªh; turk ny
x- dkaxzsl ?k- rhuksa feydj

Which party has made the Government in Bihar in 2015 ?
(a) Janta Dal (United) (b) RJD (Rastirya Janta Dal)
(c) Congress (d) All the three

17 Hkkjr esa ;kstuk vk;ksx dk xBu dc fd;k x;k FkkA 01
d- 15 vDVwcj 1951 [k- 15 flrEcj 1950
x- 15 ekpZ 1950 ?k- buesa ls dksbZ ugha

When was planning commission organized in India ?
(a) 15th October, 1951 (b) 15th September, 1950
(c) 15th March, 1950 (d) None of these
fuEu iz’u dk mÙkj 20 ‘kCnksa esa nsa %&
Answer the following question in 20 words :

18 lwpuk ds vf/kdkj dk dkuwu yksdra= dk j[kokyk gSA dSls \ 02
Right to Information Act is the care taker of democracy. Why ?

19 lafo/kku dh loksZPprk ls vki D;k le>rs gSa \ 02
What do you mena by supremacy of the constitution ?
fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

20 jktuhfrd ny jk”Vªh; fodkl esa fdl izdkj ;ksxnku djrs gS \ 05
How do political parties play their role in National Development ?

21 uxj fuxe ds izeq[k dk;ksZa dk o.kZu djsaA 06
Describe the important functions of Nagar Nigam ?

Or
vkradokn vkSj vyxkockn yksdra= dh pqukSrh gS \ Li”V djsaA
Terrorism and Isolism are the challenge of Democracy Descbribe them.

Economics Group-D Marks-17
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

22 gkWyekdZ dk ‘kCn fpUg ¼yksxks½ fdl oLrq dh xq.koÙkk dk izek.k gS A 01
¼d½ cksrycan is; ¼[k½ fctyh midj.k
¼x½ lksus ds vkHkw”k.k ¼?k½ [kk| inkFkZ
The Logo of Hollmark is a symbol of quality of which object :-
(a) Sealed bottle drink (b) Electric applliences
(c) Jewellery of Gold (d) Food materials

23 fdl {ks= dks r̀rh;d {ks= dgk tkrk gS \ 01
¼d½ lsok {ks= ¼[k½ Ñf”k {ks=
¼x½ vkS|ksfxd {ks= ¼?k½ buesa ls dksbZ ugha
Which sector is called Tertiary Sector ?
(a) Service Sector (b) Agriculture sector
(c) Industrial sector (d) None of these
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24 laf{kIr dks iwjk djsa %&
¼d½ th0Mh0ih0 ¼[k½ th0,u0ih0
¼x½ vkj0ch0vkbZ0 ¼?k½ ,l0ch0vkbZ0
Give the full form :-
(a) GDP (b) GNP
(c) RBI (d) SBI
fuEu iz’uksa dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question in 50 or 60 words :

25 foÙkh; laLFkku ls vki D;k le>rs gSa \ 03
What do you understand by financial Institutions ?

26 oS’ohdj.k ls vki D;k le>rs gSa \ 03
What do you understand by Globalization ?
fuEu iz’uksa dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

27 fo’o O;kikj laxBu D;k gS \ ;g dc vkSj D;ksa LFkkfir fd;k x;k \ 07
What is world Trade Orgaization ? When and why is it established ?

vkink izca/ku Group-E
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

28 vkx ls tyus dh fLFkfr esa tys gq, LFkku ij D;k izkFkfed mipkj djuk pkfg, \ 01
¼d½ BaMk ikuh Mkyuk ¼[k½ xeZ ikuh Mkyuk
¼x½ vLirky igq¡pkuk ¼?k½ buesa ls dksbZ ugha
What first aid should be made available on burnt spot in the burning Condition ?
(a) Cold Water on the burnt spot (b) Hot water on the burnt spot
(c) Carry to hospital (d) None of these.

29 fuEu esa ls dkSu izkÑfrd vkink ugha gSA 01
¼d½ lqukeh ¼[k½ ck<+
¼x½ vkradokn ¼?k½ HkwdEi
Which of the following is not a natural disaster ?
(a) Tsunami (b) Flood
(c) Terrorism (d) Earthquake
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question in 50 or 60 words :

30 fcgkj esa ck<+ dh fLFkfr dk o.kZu djsaA 04
Describe the situation of flood in Bihar.
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Model Questions
For

Matric Examination 2016 (Annaul)
Sub- SSC Set IV

History Group-A
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

1- xSjhckYMh is’ks ls D;k Fkk \ 01
¼d½ flikgh ¼[k½ fdlku
¼x½ tehankj ¼?k½ ukfod
To which profession did Garibaldi belong ?
(a) Police (b) Farmer
(c) LandLord (d) Sailor

2 Þokj ,.M ihlß iqLrd dh jpuk fdlus fd;k \ 01
¼d½ dkyZ ekDlZ ¼[k½ VkyLVk;
¼x½ nksLrksoLdh ¼?k½ ,satYl
Who has written the book “War and Peace” ?
(a) Karl Mark (b) Tolstoy
(c) Dostoevsky (d) Engeles
lgh ‘kCn ls fjDr LFkku dh iwfrZ djsa %&
Fill  in the blank with appropriate words.

3 ubZ vkfFkZd uhfr -------------------- bZ0 esa ykxw gqvk FkkA 01
New Economic Policy was enforced in the year ……………. .

4 lsMksok dk ;q) ----------------- vkSj ---------- ds chp gqvk FkkA 01
The battle of sadova was fought between ……………… and ……………
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question 50 or 60 words.

5 vlg;ksx vkUnksyu izFke tu&vkUnksyu FkkA dSls \ 03
Non-Cooperation movement was the first man movement. How ?

6 Nkik[kkuk ;wjksi dSls igq¡pk \ 03
How did printing press reach in Europe ?

7 Lye i)fr dh ‘kq:vkr dSls gqbZ \ 03
How did slum system begin ?

fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

8 teZuh ds ,dhdj.k esa fcLekdZ dh Hkwfedk dk o.kZu djsaA 07
Describe the role of Bismark in the unification of Germany

vFkok
;wukuh Lora=rk vkUnksyu dk laf{kIr fooj.k nsaA
Describe in short the Greek Independecne movement.eV
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Hkwxksy Group-B Marks-20

fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa %&
Choose the most appropriate option in the following multiple choice questions.

9 Hkkjr dk jk”Vªh; i{kh gS \ 01
¼d½ gal ¼[k½ e;wj
¼x½ rksrk ¼?k½ dcwrj

Which the National Bird of India
(a) Swan (b) Peacock
(c) Parrot (d) Pegion

10 Hkkjr dk igyk ijek.kq mtkZ LVs’ku dgk¡ LFkkfir gqvk \ 01
¼d½ rkjkiqj ¼[k½ jk.kk izrki lkxj
¼x½ ujksjk ¼?k½ dyiDde
Where was the first Atomic power stationof India established.
(a) Tarapur (b) Rana pratap sagar
(c) Narora (d) calpuccam

11 lgh ‘kCn ls fjDr LFkkukas dh iwfrZ djsaA
Fill in the blanks with appropriate words
I- mM+hlk esa pkoy ,d -------------------- Qly gSA 01

Rice is a ………. Corp in Orissa.
II. mPpkop izn’kZu ds fy, gS~;wej fof/k dk fodkl ---------- us fd;k FkkA 01

………….. Developed the haboure method for relies demonstarion.
fuEu iz’uksa dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following questions in 50-60 words.

12 lkSj ÅtkZ dk mRikn dSls gksrk gSA 03
Who is the solar Ennergy generated .

13 fcgkj ds izeq[k gokbZ vM~Mksa dk uke fyf[k, vkSj og dgk¡ fLFkr gSA 03
Write the names of the important Airport of Bihar and whenthere are situated.

14 lksu vFkok dkslh unh ?kkVh ifj;kstuk ds egRo ij izdk’k Mkfy,A 03
Throw light on importances of the sone or the Koshi River Valley project.

fuEu iz’u dk mÙkj 100&120 ‘kCnksa esa ns %& 07
15 Hkkjrh; vFkZO;oLFkk esa ifjogu ,oa lapkj lk/kuksa dh egÙkk dks Li”V dhft,A

vFkok
iwjs i`”B ij Hkkjr dk ,d js[kk ekufp= cukb, rFkk fuEufyf[kr dks Nk;kafdr dj vafdr dhft,A
d- cEcs gkbZ [k- fHkykbZ x- dkaMyk canjxkg
?k- nq/kok jk”Vªh; m|ku ³ xksnkojh unh
vFkok
What is the importants of Transport and communication in Indian Economic?
Or
Draw the outline map of India on full page and mark the following by shading.
a. Bombay High b. Bhilai c. Knadla port
d. Dudhwa National park e. Godavari River
Or
dsoy us=ghu Nk=ksa ds fy, %&
Only for Blind Candidates :
fcgkj esa dkSu&dkSu lh Qlysa yxkbZ tkrh gSA fdlh ,d Qly ds eq[; mRiknuksa dh O;k[;k dhft,A
Which type of crops are planted in Bihar ?
Describe any one them and its important production.
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Political science Group-C Marks-17
fuEukafdr cgqfodYih; iz’uksa esa lgh fodYi pqusa %&
Choose the most appropriate options in the following multiple choice questions.

16 vk/kqfud ;qx esa izR;{k yksdra= dgk¡ gS \ 01
d- Ýkal esa [k- fczVsu esa
x- fLoV~tjyS.M esa ?k- Hkkjr esa

Where exists Direct Democracy in modern age ?
(a) France (b) Britain
(c) Switzerland (d) India

17 fuEufyf[kr esa ls dkSu ÞHkkjrh; fdlku ;wfu;uÞ ds izeq[k usrk gSA 01
d- eksjkjth nslkbZ [k- egsUnz flag fVdSr
x- pkS/kjh pj.k flag ?k- t; izdk’k ukjk;.k

Who is the main leader of Indian farmer Association ?
(a) Morargee Desai (b) Mahendra Singh Tikkait
(c) Choudhary Charan Singh (d) Jay Prakash Narayan
fuEu iz’u dk mÙkj 20 ‘kCnksa esa nsa %&
Answer the following question in 20 words :

18 xqIr ernku D;k gS \ 02
What is secret ballot ?

19 la?k jkT; dk vFkZ crkosa \ 02
Explain the meaning of the federal Government ?
fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

20 jktuhfrd nyksa ds fdUgha pkj dk;ksZa dk o.kZu djsaA 05
Describe any four functions of the political parties .

21 yksdra= dh lQyrk ds fy, dkSu&dkSu lh vko’;d ‘kÙksZa gS \ 06
What are the necessary conditions for the success of democracy ?

Or
xzke iapk;r ds dk;ksZa ,oa ‘kfDr;ksa dk o.kZu djsaA
Describe the functions and powers of Gram Pnachyat.

Economics Group-D Marks-17
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

22 dkSu chek: (sick) jkT; ugha gS \ 01
¼d½ fcgkj ¼[k½ e/; izns’k
¼x½ dukZVd ¼?k½ mM+hlk
Which is not a sick state ?
(a) Bihar (b) Madhya Pradesh
(c) Karnataka (d) Orissa

23 fdl {ks= dks f}rh;d {ks= dgk tkrk gS \ 01
¼d½ lsok {ks= ¼[k½ Ñf”k {ks=
¼x½ vkS|ksfxd {ks= ¼?k½ buesa ls dksbZ ugha
Which sector is called Tertiary Sector ?
(a) Service Sector (b) Agriculture sector
(c) Industrial sector (d) None of these
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24 laf{kIr dks iwjk djsa %&
¼d½ ukckMZ ¼[k½ ,p0Mh0vkbZ0
¼x½ ,l0,p0th0 ¼?k½ ,0Vh0,e
Give the full form :-
(a) NABARD (b) HDI
(c) SHG (d) ATM
fuEu iz’uksa dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question in 50 or 60 words :

25 lrr~ fodkl D;k gS \ 03
What is sustainable Devlopment ?

26 miHkksDrk dkSu gS \ la{ksi esa ckrb,A 03
Who is a consumer ? Discuss in brief.
fuEu iz’uksa dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

27 ^ekuokf/kdkj* ds egRo ij fy[ksaA 07
Discuss the importane of “Human Right”.
or
oS’ohdj.k dk vke vkneh ij izHkko dk o.kZu djsaA
Describe the effects of Globlization on general people.

vkink izca/ku Group-E
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

28 26 fnlEcj 2004 dks fo’o ds fdl fgLls esa Hk;adj lqukeh vk;k FkkA 01
¼d½ if’peh ,f’k;k ¼[k½ iz’kkUr egklkxj
¼x½ vVykafVd egklkxj ¼?k½ caxky dh [kkM+h
In which part of the world Tsunami came on 26th December, 2004 ?
(a) Western Asia (b) Pacific Ocean
(c) Atlantic Ocean (d) Bay of Bengal

29 Ñf”k lq[kkM+ gksrk gS A 01
¼d½ ty ds vHkko esa ¼[k½ feV~Vh ds ueh ds vHkko esa
¼x½ feV~Vh ds {k; ds dkj.k ¼?k½ feV~Vh dh yo.krk ds dkj.k
Agricultural drought in due to
(a) Lack of water (b) Lack of soil moisture
(c) Soil erosion (d) Soil salinity
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question in 50 or 60 words :

30 HkwdEi ds izHkkoksa dks de djus okys fdUgha pkj mik;ksa dks fyf[k,A 04
Write any four measures to minimize the effect of the earthquake.eV
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Model Questions
For

Matric Examination 2016 (Annaul)
Sub- SSC Set V

History Group-A
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

1- cYyHk HkkbZ iVsy dks ljnkj dh mikf/k fdl fdlku vkUnksyu ds nkSjku nh xbZ ? 01
¼d½ ckjnksyh ¼[k½ vgenkckn
¼x½ [ksM+k ¼?k½ pEikj.k
During Which farmer movements the award ‘Sardar’ is attached to Balabh Bhai Patel ?
(b) Bardoli (b) Ahemadabad
(c) Khera (d) Champaran

2 lkE;oknh ‘kklu dk igyk iz;ksx dgk¡ gqvk ? 01
¼d½ :l ¼[k½ tkiku
¼x½ phu ¼?k½ D;wck
Where was the first communism rule used .
(a) Russia (b) Japan
(c) China (d) Quba

3. lgh ‘kCn ls fjDr LFkku dh iwfrZ djsa %&
Fill  in the blank with appropriate word:-

:lh Økafr ds le; ‘kkld --------------------------Fkk- 01
----------------------------- Was the ruler during the Russian Revolution?

4 lgh ‘kCn ls fjDr LFkkuksa dh iwfrZ djsa %&
Fill  in the blank with appropriate word:-
bZ0 -------------------------------- Hkkjr esa f[kykQr vkanksyu ds usrk ------------------------ dkSu FksA 01
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question 50 or 60 words.

5 vkS|ksfxdj.k ls vki D;k le>rs gS \ 03
What was the meaning of Industrialisation.

6 lfou; voKk vkUnksyu ds D;k ifj.kke gq, \ 03
What was the resultant of the Non-coopratin movement.

fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question 50 or 60 words.

7 foLekdZ ds dk;ksZa dk ppkZ djsa A 03
Describe the works of Bismark.

8 fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :
fgUn&phu mifuos’k dh LFkkiuk D;k Fkk \ 07
What was the aim of coloney establishment of Indo-China.

vFkok
dqVhj m|ksx ds egRo ,oa mldh mi;ksfxrk ij izHkko MkysaA
Throw light upon the importance and utility of small industry.eV
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Hkwxksy Group-B Marks-20

fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa %&
Choose the most appropriate option in the following multiple choice questions.

9 fuEukafdr esa ls dkSu m|ksx Ñf”k ij vk/kkfjr ugha gS \ 01
¼d½ lwrh oL= ¼[k½ lhesUV
¼x½ phuh ¼?k½ twV

which Industry does not deped on Agriculture ?
(a) Cotton (b) Cement
(c) Sugara (d) Jute

10 jsy odZ’kki dgk¡ fLFkr gSa \ 01
¼d½ tekyiqj ¼[k½ Hkkxyiqj
¼x½ eqaxsj ¼?k½ iVuk
Where is the railwork shop situated ?
(a) Jamalpur (b) Bhagalpur
(c) Munger (d) Patna

11 lgh ‘kCn ls fjDr LFkkukas dh iwfrZ djsaA
I- /kkrq ,d ---------------------- lalk/ku gSA 01

Metal is a ----------------- resources.
II. dukZVd esa --------------------- eq[; jksi.k Qly gSA 01

----------------- in the main crop of karnataka.
fuEu iz’uksa dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following questions in 50-60 words.

12 vHkzd dgk¡ feyrk gSA bldk D;k mi;ksx gSA 03
Where is mica found. What is its utility.

13 Ñf”k ij vk/kkfjr m|ksx vkSj [kfut vk/kkfjr m|ksx ds vUrj dks Li”V djsaA 03
Defferentiate between the agriculture & mineral Industry.

14 Hkkjr esa fdrus izdkj dh lM+dsa gSa \ o.kZu djsaA 03
How many roads are there in India. Explain them.

15 fuEu iz’u dk mÙkj 100&120 ‘kCnksa esa ns %& 07
ÞÑf”k fcgkj dh vFkZO;oLFkk dh jh<+ gSAß bl dFku dh O;k[;k dhft,A
vFkok
iwjs i`”B ij Hkkjr dk ,d js[kk ekufp= cukb, rFkk fuEufyf[kr dks Nk;kafdr dj vafdr dhft,A
d- Fkkj dk e:LFky [k- dks;yk {ks= x- fnYyh
?k- fo’kk[kkiÙkue~ ³ pk; {ks=
vFkok
dsoy us=ghu Nk=ksa ds fy, %&
Hkkjr dk ykSg bLikr m|ksx dk o.kZu djsaA
Answer the following question in 100 to 120 words.
“Agriculture in the backbone of economy of Bihar” Explain the statement.
Or
Draw the outline map of India on full page and mark the following by shading.
a. The Desert of thar b. Coal field c. Delhi
d. Vishakhapattanam e. Tea eara.
Or
Only for Blind candidates :-
Describe the Iron Industries of India.
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Political science Group-C Marks-17
fuEukafdr cgqfodYih; iz’uksa esa lgh fodYi pqusa %&
Choose the most appropriate options in the following multiple choice questions.

16 ^lEiw.kZ ØkfUr* dk usr̀Ro fuEufyf[kr esa ls fdlus fd;k %& 01
d- eksjkjth nslkbZ [k- uhrh’k dqekj
x- bafnjk xk¡/kh ?k- t; izdk’k ukjk;.k

Who led the “Total Revolution” among the following ?
(a) Morarji Desai (b) Nitish Kumar
(c) Indira Gandhi (d) Jay Prakash Narayan

17 fuEufyf[kr esa ls dkSu jk”Vªh; ny ugha gS \ 01
d- Hkkjrh; turk ny [k- cgqtu lekt ikVhZ
x- turk ny ¼;w0½ ?k- buesa ls dksbZ ugha

Which of the following is not a National party ?
(a) Bhartiya Janta Party (b) Pahujan samaj party
(c) Janta Dal (United) (d) None of these

18 vkradokn yksdra= dh pqukSrh gSA dSls \ 02
Terrorism is the challenge of Democracy. How ?

19 lwpuk ds vf/kdkj vkUnksyu ds eq[; mís’; D;k Fks \ 02
What is the main objectives of the movement Right to Information Act ?
fuEu iz’u dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

20 orZeku Hkkjrh; jkthufr esa yksdra= ds le{k dkSu&dkSu lh pqukSfr;k¡ gS \ foospuk djsaA 05
What are the challenges before democracy in present Indian politics ? Discuss.

21 jkthufrd ny dks ^yksdra= dk izk.k* D;ksa dgk tkrk gS \ 06
Political parties are called the “Life of Democracy”. Why ?

Economics Group-D Marks-17

fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

22 fjtoZ cSad vkWQ bafM;k dh LFkkiuk dc \ 01
¼d½ 1930 ¼[k½ 1935
¼x½ 1945 ¼?k½ 1947
Establishment of Reserve Bank of India was :-
(a) 1930 (b) 1935
(c) 1945 (d) 1947

23 Hkkjr dh foÙkh; jkt/kkuh fdl ‘kgj dks dgk tkrk gS \ 01
¼d½ dksydkrk ¼[k½ eqEcbZ
¼x½ fnYyh ¼?k½ gSnjkckn
Which city is called the financial capital of India.
(a) Kolkata (b) Mumbai
(c) Delhi (d) Hyderabad

24 ldy ?kjsyw mRikn D;k gS \ 02
What is Gross Domestic Product ?eV
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25 ,0Vh0,e D;k gS \ 02
What is ATM ?
fuEu iz’uksa dk mÙkj 100 vFkok 120 ‘kCnksa esa nsa %&
Answer the following question in 100 or 120 words :

26 ^miHkksDrk laj{k.k vf/kfu;e 1986* dh eq[; fo’ks”krkvkvsa dks fy[ksaa 05
Mention the main features of ‘Consumer protection Act 1986.’

27 vkfFkZd fodkl ds eq[; lzksrksa dk o.kZu djsaA 06
Describe the main regions of Economic development.
Or
jk”Vªh; vk; dh ifjHkk”kk nsaA bldh x.kuk dh izeq[k fof/k dkSu&dkSu lh gSa \
Give the definition of national Income. What

vkink izca/ku Group-E
fuEukafdr cgqfodYih; iz’uksa esa ls lgh fodYi pqusa%&
Choose the most appropriate options is the following multiple choice Questions:-

28 fuEufyf[kr esa ls fdl unh dks ^fcgkj dh ‘kksd* dgk tkrk gS \ 01
¼d½ xaxk ¼[k½ xaMd
¼x½ dkslh ¼?k½ iquiqu
Which river is called ‘Curse of Bihar.’
(a) Ganga (b) Gandak
(c) Kosi (d) Punpun

29 lqukeh fdl LFky ij vkrk gS \ 01
¼d½ LFky ¼[k½ leqnz
¼x½ vkleku ¼?k½ buesa ls dksbZ ugha
At which place does Tsunami take place ?
(a) Landmass (b) Sea
(c) Sky (d) None of these
fuEu iz’u dk mÙkj 50 vFkok 60 ‘kCnksa esa nsa %&
Answer the following question in 50 or 60 words :

30 thou j{kd vkdfLed izca/ku ls vki D;k le>rs gSa \ 04
What do you mean by life-protective disaster management?
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